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1. -

(A) 5 (B) 6 (C) 7 (D) 8 

2. -

            

O

CH3

HOHO

(A) Zn(Hg)/HCl (B) NH2NH2,OH– (C) H2/Ni (D) NaBH4

3. 1ºH, 2ºH 3ºH 1 : 82 : 1600 

-

CH–CH–CH3 3

CH3

(excess) + Br2

hv
CH–C–CH+CH–CH–CH3 3 3 2–Br

CH3 CH3

Br

(A) (B)

(A) (B) -

(A) 99.4%, 0.6% (B) 50%, 50% (C) 0.6%, 99.4% (D) 80%,20%

4. -

(A) CH4 (B) (CH3)3CH (C) CH3CH3 (D) CH3CH2CH3

5. :

CHOH2

HSO2 4

(A) CH2 (B) CH3 (C) (D) 

6. B2D6 -

(A) 1– (B) 2–

(C) 1– (D) 2–

7. 1– B2H6 H2O2 NaOH 

-

CH3

1.BH2 6

2.HO/OH2 2

–

(A) 1– (B) 2–

(C) (D) 

8. ICl -

(A) 1– –2– (B) 2– –1–

(C) (±)–2– –1– (D) (±)–1– –2–

EXERCISE-01 CHECK YOUR GRASP
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9.

CHCHCH–N–CHCH3 2 2 2 3

CH3

CH3

+
OH

Heat–

:

(A) CH2=CH2 (B) CH3CH=CH2

(C) (A) (B) (D) 

10. HBr -

(A) H+ (B) Br– (C) H (D) Br

11.

CH3CH2CH=CH2 
2 2

4

1.Hg(OAc) ,H O
2.NaBD

-

(A) CH3CH2CHOHCH2D (B) CH3CH2CHDCH2OH

(C) CH3CH2CD(OH)CH3 (D) CH3CH2CD2CH2OH

12. 1,3- HCl (1 ) (100ºC ) 

(A) 3,4– –1– (B) 3– –1–

(C) 1– –2– (D) 2– –2–

13. (X) (Y), C6H14

(X) -

(A) 3– –1– (B) 3– –2–

(C) 2– –1– (D) 3–

14. HCl, 1– -

(A) C6H5CHClCH2CH3 (B) C6H5CH2CHClCH3

(C) C6H5CH2CH2CH2Cl (D) C6H5CH(CH3)CH2Cl

15. 4–  Pd/CaCO3 – H2
 -

(A) –4– (B) –4–

(C) – –4– (D) C8H18

16. -

(A) 33 2 1 CH


  º º º (B) 3CH 1 2 3


  º º º

(C) 31 2 3 CH


  º º º (D) 32 1 3 CH


  º º º

17. -

(A) –2– (B) –2– (C) 1– (D) 1,3–
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18. HCl -

(A) 3 2CH CHCH Cl


(B) 3 2 2CH CH CH


(C) 3 3CH CHCH


(D) 3 2 2CH CH CH


19.  -

R2C=CR2,    R2C=CHR,    R2C=CH2,    RCH=CHR,     RCH=CH2

I      II     III    IV         V

(A) I > II > III > IV > V (B) I = II > III > IV > V

(C) II > I > IV > III > V (D) V > IV > III > I > II

20. -

(A) CH3CCH (B) (CH3)2CH–CH (C) CH3CCCH3 (D) HCCH

CHECK YOUR GRASP EXERCISE -1ANSWER KEY
Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Ans . C B A A C B B B A A A C A A B A D C A C
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EXERCISE–02       BRAIN TEASERS

1. -

(A) CH3CH=CHCH3+HBr  (B) CH3CH=CH2+HOBr 

(C) CH3CH2CH=CH2+HBr 2 2H O (D) CH3CH2CH=CH2+HBr 

2. CCl4  N– -

(A) 1, 2– (B) 3–

(C) 1– (D) 2–

3. –2– CCl4 Br2 -

(A) 1– –2– (B) 2,3–

(C) –2,3– (D) (±) 2,3–

4.

CH3–H CH3CH–H2 CH=CH–CH–H2 2 CH–H6 5

I II III IV

(A)  I > II > III  > IV (B) IV > III > II  > I (C) IV > I > II  > III (D) II > I > IV  > III

5. KMnO
4
 

(A) C3H8 (B) C2H4 (C) CH4 (D) CCl4

6. AgNO
3
 

(A) CH3

CH3

CH C CH (B) HC CH (C) 1- (D) 

7. KMnO
4
 AgNO

3
 

(A) (B) (C) (D) 2–

8. 'A' 'B' 'B' KOH 'C' 

'C' 'A'  :

(A) C2H6 (B) C2H4 (C) C4H10 (D) C2H5Cl

9. 1–

(A) H2O, H2SO4 (B) B2H6, H2O2, OH–

(C) Hg(OAc)2,NaBH4/H2O(D) Aq. KOH

10.

[R = ]

(A) 

RR

RR
(B) 

RR

H H
(C) 

RR

HR
(D)  

R

HR

H
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11.

CHCH CHCH CH3 2 2 2 3

I

(CH ) CHCHCH3 2 2 3 (CH ) C3 4

II III

(A) I > II > III (B) II > I > III (C) III > I > II (D) III < II < I

12. 2-  ?

(A) CH3CH2CHO (B) CH3CHO (C) CH3COCH3 (D)CH3COCH2CH3

13.  ?

(A) CH3CH=CH2
2 6

3

1.B H
2.CH COOH

 (B) CH3CH2CH2Cl 
2

1.Mg / ether
2.H O



(C) CH3CH2CH2I Re dP / HI /150 C (D) CH3CH2CH2COONa NaOH/ CaO




14.  :

(A) 
H H

3

2

1.O
2.Zn,H O

OHC–CH2CH2CH2–CHO

(B) 
H H

C6H C–OOH5

CH2 2Cl

O

O

H H

(C) 
H H

 4KMnO
cold dilute solution

 H H

OH OH

(D) 
H H

4
–

KMnO

OH ,heat
  O—CCHCH C—O2 2CH2

O O

– –

15. 2- -3-

(A) C6H5CH2CH(OH)CH3+PBr3 

(B) C6H5CH=CHCH3+HBr+ 

(C) C6H5CH2CH2CH3+Br2+ 

(D) 

16.  HNO3  :

(A) CH3CH2CH2NO2 (B) CHCHCH3 3

NO2

(C) CH3CH2NO2 (D) CH3NO2
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17.  :

(A) (B) 1- (C) 2- (D) 

18. —CH=CH2

A
—CH2 2CH OH

—CHCH3

—CH2 3CH

OH

OH

B

C

A, B  C  :

(A) 

(B) , - , 

(C) , , - 

(D) - , , 

19. 9 14
(A)

C H  

O O

 A  :

(A) (B) (C) (D) 

20.

HO HOOH OH

Y X

I :  4MnO /OH–   II : HCO3H X  Y   :

(A) X -I, Y- II (B) X -II, Y- I (C) X -I, Y- I (D) X -II, Y- II

Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans . A, B,D B D C B D D A B B A, D A, B A,BC,D A,BC,D A,B

Que. 16 17 18 19 20

Ans . A,BC,D A, B B B A

BRAIN TEASERS EXERCISE -2ANSWER KEY
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 (True / False)

1. NaOH/KOH 

2.  C—H C—H 

3.

:
HC C 

:

CH2=CH 

4. —C  C—  —C=C— 

5.

  (Fill in the blanks)

1. -2- -2- ...................... 

2. -  .................... 

3. ...................  .............. 

4. ..................... 

5.  ................... 

(Match the column)

1.  I II 

-I -II

(A) (p)

(B) (q)

(C) ( r )

(D) NBS ( s )

2.  I II 

(A)

(B)

(C)

(D)

CH—CH—CHBr3 2 2

CH—CHBr—CH3 3

BrCH—CH=CH2 2

CH—CH=CH3 2

CH—CHBr—CH Br3 2

(p)             HBr

(q)             HBr +

(r)             NBS

(s)            Br , 2 ,  

-I -II

EXERCISE–03 MISCELLANEOUS TYPE QUESTIONS
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3.  I II 

-I -II

(A) (p)

(B) (q)  KOH

(C) (r )

(D) ( s )

(E) ( s )

(Assertion & Reason)

- I - II 

(A) - I - II - II, - I 

(B) - I - II - II, - I 

(C) - I - II 

(D) - I - II 

1. -I : , 
I II

  II, I 

-II :  (II) sp2-

2. -I : 1- HBr 

-II : 

3. -I : 1- HBr 1-

-II : 

4. -I : NaCl Br2-  1, 2- , 1- -2- 2-

-II : 

5. -I : -2- -2,3-

-II : 
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6. -I : H+ 

-II :

7. -I : 

-II : 

8. -I : -1,4- -1, 3-

-II : -1,3-

9. -I : 

-II : I2 

10. -I : HCl 

-II : 

 (Comprehension Based Questions)

 # 1

X(C4H9Br) KOH Y 2Br Z ( ) 2NaNH W ( ) 3
n

AgNO

Sol
 .

X, Y  Z 

1.       X        Y             Z

(A) CH3—CH2CH2CH2Br CH3—CH=CH—CH3 CH—CH— H—CH3 2C 2

Br Br

(B) CH3—CH2CH2CH2Br CH3—CH2—CH=CH2 CH—CH— H—CH3 C2 2

Br Br

(C) CH3—CH2—CH2—CH3 CH3—CH=CH—CH3 CH—CH— H—CH3 C 3

Br Br

(D) CH—CH— H—CH3 2 C 3

Br

CH3—CH=CH—CH3 CH—CH— H—CH3 2 C 2

Br Br

2. Y :

(A) 2  CH3CHO (B) CH3CH2CHO  HCHO

(C) CH—C CH3 — 3

O

 HCHO (D) CH3CH2COOH  HCOOH
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3. / :

(A)  W ; 2 DU 

(B) Y  W 

(C) W, Y 

(D) Ni/Pt W, Y 

 # 2

BH3 



H2O2/:OH  

1.  

H CH3

(i) BH3/THF

(ii) H2O /OH2
:   :

(A) OH

H

H3C

H

(B) H

HO

H3C

H

(C) 
H

HO

H

CH3

(D) 
H

H

H3C

OH

2.
CH3

 
(i) BH3/THF

(ii) H2O /OH2

:  X

(A) 

CH3

OH (B) 

CH3

H

HO

(C) 

CH3

OH

(D) 

CH3

OH

3. D

D

(i) BH3/THF

(ii) H2O /OH2

:  Y.

Y  :

(A)  D

D

OH

H

(B) D

D

OH

H

(C) (D) 
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

1. T 2. T 3. F 4. T 5. T



1. -2- 2. 1- 3. , 

4. 5. sp



1. (A) s ; B r ; (C)  p ; (D) q 2. (A) q ; (B) p ; (C)  s ; (D) r
3. (A) q ; (B) p ; (C)  t ; (D) r ; (E) s



1.  C 2.  A 3.  C 4.  A 5.  B 6.  D 7.  A
8.  D 9. C 10. B



 #1 : 1. (B) 2. (B) 3. (A, C)

 #2 : 1. (B) 2. (D) 3. (B) 4. (C) 5. (D)

 #3 : 1. (B) 2. (D) 3. (A)

MISCELLANEOUS TYPE QUESTION EXERCISE -3ANSWER KEY

4. CH—C— H=3 C CH2

CH3

CH3

(i) BH3/THF

(ii) H2O /OH2

:  Z.

Z  :

(A)  1°- (B)  2°-

(C)  1°- (D)  3°-

5.

D

D

(i) BH3/THF

(ii) H2O /OH2

: -

(A) (B) 

(C) (D) (B)  (C) 

 # 2

(A)  C6H10  H2/Ni, H2/  Na/liq. NH3 

(B), (C), (D) (A) AgNO3 

NaNH2,  (E) (E) CH3I (F) 

(D) n-

1. (D)  (C) 

(A) (B) 

(C) (D) (C)  (D) 

2.  (E) -

(A) (B) (C) (D)  

3. (F)  -

(A)  (B) (C) (D) 
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1. (Y) 3Na,NH
C C

2H (X).

 X Y 

2. :

(a)

(b)

(c)

(d)

(e)

CH—CH—C—CH3 2 3

O

CH—CH—CH—C—H3 2 2

O

CH—CH—C—CH3 2 3

Cl

Cl

CH—CH—C C—CH3 2 3

CH—CH—C C—D3 2 

CH—CH—C C—H3 2 

3.

(a) 
(II)(I)

(b) 
(I) (II)

(c) 
(I) (II)

(d) 
(I) (II)

4. HCl 

 
HCl

One mole


5. :

(a) F
3
C—CH = CH

2
+ HI 

(b) C
6
H

5
—CH=CHCH

3
 +HBr 

(c) CHCH=C—CH CHBr3 3 3

CH3



(d) C
6
H

5
—CH=CH

2
+B

2
H

6
 2 2H O

NaOH


(e) CH
3
—CH=CH—CH=CH

2

HCl
50 C



EXERCISE–04 [A] CONCEPTUAL SUBJECTIVE EXERCISE
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6.  :

   + HBr    
Br

   +   

Br

 +  

Br

7. (A)  36 (A) 

8. 2-

9. n-  ?

10.

OH
2 4

conc.
H SO

  + H
2
O

CONCEPTUAL SUBJECTIVE EXERCISE EXERCISE -4(A)ANSWER KEY

1. (X) :   (Y) :

2. (a) H2O/Hg2+/H+ , (b) (Sia)2 BH/H2O2, 

:

OH, (c) 2HCl,
(d) Na, CH3 – I, (e) Na, D–O–D

3. (a) II ; (b) I ; (c) II ; (d) I

4. +H
+ +

I + II

I Cl–
Cl

+
Cl

II

Cl

–
+

Cl

Cl
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6. +  H  
+

+

+
Br–

Br

Br

Br

Br

–

–

+

+

+ Br– Br

H  shift–
Br

H  shift–

7. =  × 2 = 36 × 2 = 72

CnH2n+2 

 12n + 2n + 2 = 72

 n = 5   C5H12

 C5H12 

CH—C— H3 3C

CH3

CH3

CH—C— HCl3 2C

CH3

CH3

Cl2

(A) (2,2- )

8. (i)  
3O 2H CH—CH—CH — CHCHO3 2 2 3C=O+

( )
CH3

( -2- )

    (ii) 7 

CHCH CH3 2 2
C=O

HC3

C=O
CH3

H

   (iii)  CH— —3 C=CH—CH CH—CH2 2 3

CH3

   (iv)

CH—CH—CH— CHCHO3 2 2 3C=O+
( )

CH3
( -2- )

CH—CH—CH — CH—CH3 2 2 3C=

CH3

(3- -2- )

(i) O3

(ii) 2H

9. n- (36.2°C) (9.5°C) n-
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EXERCISE–04 [B] BRAIN STORMING SUBJECTIVE EXERCISE

1.

CHOH2

     2 4conc. H SO      

major

    +    

CH2

  +  

CH2

2. ( )

(a) 

COOH

HOOC

4

2 2

OsO

H O
 (b) 

COOH

HOOC
  

3 3

2

CH CO H

H O


(c) 

COOH

COOH

        
3 3

2

CH CO H

H O
 (d) 

COOH

COOH

       
4

2 2

OsO

H O


3. :

(a) 1- 2- ............ (b) 1- 1-  ............

(c)  ............

4. 2- A H 

CHC CCH3 3 A B
H2 D/Pt2

Ni B (P-2)2

Na/EtOH
C D

D/Pt2

H2

Ni B (P-2)2

E F
Br2

Br2

G H
H2

Ni

5. A, B, C 

n—BuC CMe Li, NH3(I) A

B
Lindlar's catalyst

H2
C

6. A (C
10

H
12

) A 

A H
2
/Pt B (C

10
H

20
)  A C (C

8
H

12
O

4
)  

D (C
6
H

12
) D Cl

2
/hv 

C
6
H

11
Cl A  D 
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7. A  D 

2 2D O Cl , hvMg / ether Na / ether
3

one mol
CH Br A B C D   

8.
. . . . . . . . . . . . . .

Na / ether
4 9C H Cl     

CH3

CH3

CHCHCHCH2 2

CH3

CH3

 C
4
H

9
Cl 

9.

(i)   Br
2
 (ii)  H

2
/pd

(iii)  MnO
4
–/OH– (iv)  HCO

3
H

(v)  MCPBA (vi)  OsO
4
 

—

2OH/ H O

10. C
5
H

10
 A

1
, A

2
  A

3 
2- A

1
 A

2

3º A
2
 A

3
 1º

A
1
, A

2
  A

3
 

1. Step (I) :

CHOH2

(a)

       2 4H (H SO )

     

CHOH2 2

(b)

+

Step (II) : (b)        
2–H O

     

CH2

(c)

+

Step (III) :

CH2

+

H
     H

      

CH2

minor

Step (IV) :

CH2

+

    
alkyl shift

(ring expansion)
   

+

Step (V) :

+

H        H
   

major

BRAIN STORMING SUBJECTIVE EXERCISE EXERCISE -4(B)ANSWER KEY
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2. (a) 

COOH
H— —OH—

HO— —H—

COOH

( ).

(b) 

COOH

H— —OH—

H— —OH—

COOH

   (c) 

COOH
H— —OH—

HO— —H—

COOH

( ) 

(d) 

COOH

H— —OH—

H— —OH—

COOH

4. A B 

A :

CH3 CH3

H H

C=C

cis

B : CH–C–C–CH3 3

H H

D D meso

C D, d-  l- ( )

C :

H CH3

CH3 H

C=C D :

CH–C–C–CH3 3

H D

D H
d-  - ( )

E 

E :  A 

Br
2 

F : CH–C–C–CH3 3

H Br

BrH

G :

CH3 Br

Br CH3

C=C H : F 

5.

n–BuC CMe

NH3

Li
H2

Lindlar's catalyst

CH3

n-BuC–C–H

H
A-trans

(by anti additon)

HC3

n-BuC–C–H

H
B-cis

(by syn additon)

HO— —H—

CH3

n-Bu

H— —OH—

(C)  ( )

6.

A

 ;  

B

C H2 5 C H2 5 ; 

C

HOOC COOH ;   

D
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10. A
1
, A

2
  A

3
  2H   HCCHCHCH3 2 3

CH3

A
1
, A

2
  A

3
 (C=C) 

A
1
, A

2
     3º 

 A
1
  A

2
  

CH3

CH3

=C   
2CH C

|
  

 
 

 

A
2
  A

3
   1º 

(CH
2
=) 

A
1
  CHC=CHCH3 3

CH3

A
2
  CHCHC=CH3 2 2

CH3

A
3
 CHCHCH=3 CH2

CH3

A
1
  A

2
       CHCCHCH3 2 3

CH3

OH

            3°  (X)

A
2
      CHCHCHCHOH3 2 2

CH3

      1º  (Y)

A
3
      CHCHCHCHOH3 2 2

CH3

      1º  (Z)

Y  Z 1º 
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EXERCISE - 05 [A] JEE-[MAINS] : PREVIOUS YEAR QUESTIONS

1. [AIEEE-2002]

(A) NaOH (B)  AgNO
3
(C) Na (D) HCl

2.  - [AIEEE-2002]

(A) CH
3
COCl (B) ClCH

2
CHO (C) Cl

2
CHCHO (D) ClCH

2
COOH

3. 1–   - [AIEEE-2003]

(A) Pd/H
2

(B) Zn - HCl (C) Sn - HCl (D) Zn - Hg/HCl

4.

 - [AIEEE-2003]

(A) (B) (C) (D) 

5.  Zn-Hg/HCl  HCl [AIEEE-2004]

(A) -2- (B) (C) (D) 

6.  :  [AIEEE-2004]

(A) (B) 1– (C) 1– (D) n–

7. 2- [AIEEE-2005]

(A) 2– –2– (B) 1– –2–

(C) 1– –3– (D) 2– –3–

8. [AIEEE-2005]

(A) (B) 

(C) (D) 

9. 40°C 1,3– HBr [AIEEE-2005]

(A) 1– -2–

(B) 3– -2–

(C) 1– –2-

(D) 3– –2–

10. [AIEEE-2005]

(A) (B) 

(C) (D) 

11. 2- [AIEEE-2005]

(A)  2– (B) 1  2–

(C) 2– (D) 1–
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12.
Me

N
OHMe

Et
n Bu



- [AIEEE-2006]

(A) 
Me

(B) CH
2
=CH

2
(C) 

Me

(D) 

Me

13. KOH 2- -1- [AIEEE-2006]

(A) 4- (B) 2-

(C) 1- (D) 3-

14. - [AIEEE-2006]

(A)  Mg(OH)Br (B)  Mg(OMe)Br 

(C)  Mg(OH)Br (D)  Mg(Me)Br 

15. 2, 2- [AIEEE-2007]

(A) CH3—C CH + 2HBr  (B) CH3CH CHBr + HBr 

(C) CH CH + 2HBr  (D) CH3 — CH  CH2 + HBr 

16. ‘B’ [AIEEE-2008]

CH
3
CH=CHCH

3
 3O  A 2H O

Zn  B.

B 

(A) CH
3
CH

2
CHO (B) CH

3
COCH

3
(C) CH

3
CH

2
COCH

3
(D) CH

3
CHO

17.   [AIEEE-2008]

(A) CH
3
CH

2
CH

2
C  CCH

2
CH

2
CH

3
(B) CH

3
CH

2
C  CH

(C) CH
3
CH=CHCH

3
(D) CH

3
CH

2
C  CCH

2
CH

3

18. CH
3
MgX  CH

3
C  C–H [AIEEE-2008]

(A) CH
3
–CH=CH

2
(B) CH

3
C  C–CH

3
(C) CH—C=C—CH3 3

H
|

H
|

(D) CH
4

19. [AIEEE-2010]

C6H5CH2CH(OH)CH(CH3)2
Conc. H SO2 4  ?

(A) 
HCCHCH5 6 2 2

HC3
C = CH2 (B) 

HC5 6

H
C = C

H

CH(CH)3 2

(C) 
CHCH6 5 2

H
C = C

CH3

CH3

(D) 
CH6 5

H
C = C

CH(CH)3 2

H
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20.

44 u  :- [AIEEE-2010]

(A) (B) (C) 1- (D) 2-

21.

:-             [AIEEE-2011]

(A) (B) 

(C) (D) 

22. 'A' 

'A' :-             [AIEEE-2011]

(A) 2 -  - 1- (B) 1 - 

(C) 2  - (D) 2 -  - 2 - 

23.  2– –2– :-            [AIEEE-2012]

(A) Li AlH4 (B) Pt/H2 (C) Li/NH3 (D) Pd/BaSO4

24. ?     [AIEEE-2012]

CH=CHCOCH3

HO
   

CH=CHCH CH2 3

HO

(A) NaBH4 (B) NH2 NH2,OH (C) Zn – Hg / HCl (D) Na, Liq.NH3

Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans 1 3 1 1 1 1 1 4 1 1 1 2 4 2 1

Que. 16 17 18 19 20 21 22 23 24

Ans 4 2 4 2 4 4 4 3 2

JEE-[MAIN] : PREVIOUS YEAR QUESTIONS EXERCISE -5[A]ANSWER KEY
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1. KOH - [IIT-90]

(A) (B) (C) (D) 

2. - [IIT-90]

(A)  (B) (C) n- (D) 

3. 1– - [IIT-91]

(A) 1– (B) 1– (C) 2– (D) 2–

4. HC  C – CH=CH2 C–C - [IIT-93]

(A) sp3–sp3 (B) sp2–sp3 (C) sp–sp2 (D) sp2–sp2

5. 1- (HgSO4 + H2SO4)  - [IIT-92]

(A) 3 2 3CH CH C– CH
||
O

  (B) CH3–CH2–CH2–CHO

(C) CH3–CH2–CHO–HCHO (D) CH3–CH2–COOH+HCOOH

 6.  : [IIT-93]

OH–, 
2NH , HC  C– and CH3–


2CH

(A) CH3–

2CH  > 

2NH  > HC  C– > OH– (B) HC  C– > CH3–

2CH  > 

2NH  > OH–

(C) OH– > 
2NH  > HC  C– > CH3–


2CH (D) 

2NH  > HC  C– > OH– > CH3–

2CH

7. n- 130º C  - [IIT-95]

(A) CH3CH2CH2CH2Br (B) CH CH CHBr3 2

CH3

(C) CH –CHCH Br3 2

CH3

(D) CH –C–Br3 2

CH3

8. - [IIT-97]

(A)  ' ' (B) ' ' 

(C)  ' (crown)' (D) ( ) 

9. (CH3)3 CMgCl, D2O [IIT-97]

(A) (CH3)3CD (B) (CH3)3OD (C) (CD3)3CD (D) (CD3)3OD

10.  

O

 , 3Ph P CHR
 

 ,  - [IIT-97]

(A) (B) 

OH

(C) 

CHR

 (D) 

CH R2

11. HCl : [IIT-97]

(A) 3 2CH CHCH Cl


(B) 3 3CH CHCH


(C) 
3 2 2CH CH CH


(D) 

3 2 2CH CH CH


 EXERCISE - 05 [B] JEE-[ADVANCED] : PREVIOUS YEAR QUESTIONS
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12.  : [IIT-98]

 : 1- Br2 

: 

(A)

(B) 

(C) 

(D) 

13. CH3CH=CH OH HBr - [IIT-98]

(A) CH3CHBrCH2 OH (B) CH3CH2CHBr OH

(C) CH3CHBrCH2 Br (D) CH3CH2CHBr Br

14. CH2=CH–CH2–CCH,   C2–C3  - [IIT-99]

(A) sp–sp2 (B) sp2–sp3

(C) sp–sp3 (D) sp3–sp3

15. 1- (HgSO4 + H2SO4) – [IIT-99]

(A) 323 CH

O
||
CCHCH  (B) CH3CH2CH2–CHO

(C) CH3CH2CHO + HCHO (D) CH3CH2COOH + HCOOH

16. [IIT-2000]

 : 1– HBr  1–

 : 

(A) 

(B) 

(C) 

(D) 

17.  - [IIT-2000]

(A) 

R R 

H H
(B) 

R H

R H
(C) 

R R

R H
(D) 

R R

R R

18.  -                 [IIT-2000]

(A)   H2SO4 (B) Br2  CCl2 (C) KMnO4 (D) AgNO3

19.  : [IIT-2001]

 : –2– –2, 3–

: 

(A) 

(B) 

(C) 

(D) 
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20.

- [IIT-2001]

(A) 

(B) 

(C) 

(D)  

21.  HOCl  - [IIT-2001]

(A) H+ (B) Cl+

(C) OH– (D) Cl+  OH–

22.  -  - [IIT-2001]

(A) 

(B) 

(C) C – C  

(D)  C – C-

23.   HC–CH–CH–CH+Br3 3 X+HBr

D CH3

.   'X' 

:                [IIT-2002]

(A) HC–CH–CH–CH3 2

D CH3

(B) HC–CH–C–CH3 3

D CH3

(C) HC–C–CH–CH3 3

D CH3

(D) HC– –CH–CH3 3CH

CH3

24. 1–  2– :

(A) , CCl4 (B) H2, 

(C)  H2SO4, HgSO4 (D)  Cu2Cl2          [IIT-2002]

25. C6H5 – C=C – CH3 
4

2 4

HgSO
H SO A [IIT-2003]

(A) 

O

(B) 
O

(C) CH–C=CHCH6 5 3

OH

(D) CH–CH=C–CH6 5 3

OH

26.
OH

     H
H O2


    

X

(Mixture )   
Br2  5

 C4H8Br2  X [IIT-2003]

(A) 2 (B) 3 (C) 4 (D) 5

27. 2– –2–  - [IIT-2004]

(A) H2–Pd–BaSO4 (B) Li, NH3 (C) H2–PtO2 (D) NaBH4

28. 1– –3– 2–  - [IIT-2005]

(A) 

Br

(B) 

Cl

(C)  (D) 
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29. CH3–CH=CH2 
NOCl  ,  :               [IIT-2006] (A)

C –CH–CH–NO2H3

Cl

(B) C –CH–CH–Cl2H3

NO

(C) C –CH–CH–Cl2 2H3 (D) NO–CH–CH–CH–Cl2 2 2

30.  E  E 

KOH F  F  :           [IIT-2007]

(A) CHO (B) CHO (C) COOH (D) 
COH2

COH2

31.    [IIT 1997]

(a)  
HPh

Ph Br
 + KNH2  A (b)  + CHBr3 + t-BuOK  B

32.  : [IIT 2006]

(A) Ph–CH2–CH2–Br (p) E1 

& Ph–CD2–CH2–Br

(B) Ph–CH–CH3

Br

 , Ph–CH–CD3

Br

(q) E2 

(C) Ph–CH–2 2CH–Br

Ph–CD=CH2

(r) 1
cbE

(D) CH–CH–CD3 3

CH=CH–CD2 3

(Major Product)

Br

(s) 1st 

33. alc. KOH
3 2 2 3

Cl
|

(CH ) C CH CH ?  [IIT-1992]

34.
alc. KOH HBr

6 5 2 3
heat

C H CH CHCH ? ?
|
Br

  [IIT-1993]

35. C(C
6
H

12
) C

6
H

14 

[IIT-1993]

36. [IIT-1994]

2HR C C R   

37. -2- [IIT-1995]
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38. E(C
5
H

8
) F(C

5
H

12
) E 

2- E [IIT-1995]

39. 3- -2- [IIT-1996]

(a) HBr       (b) Br
2
/H

2
O        (c) Hg (OAc)

2
/H

2
O; NaBH

4

40. (X) C
6
H

13
Cl 

(Y) (Z) (C
6
H

12
) 2, 3- (X), (Y) (Z) 

[IIT-1996]

41. 3, 3- - -2-

[IIT-1996]

42. A ( C
8
H

12
) H

2
 Pd 

A B (C
8
H

12
O

2
) A B 

[IIT-1997]

43. (A) C
6
H

12 
CCl

4
  (A) KMnO

4
 (B)

(A) (B) IUPAC [IIT-1997]

44. 1, 3- n- [IIT-1998]

45. [IIT-1998]

C
6
H

5
CH(OH)CCH    C

6
H

5
CH=CHCHO

46. [IIT-1998]

OH
    H

    
O CH3

47. [IIT-1999]

1. 2. 3.      

48. [IIT-1999]

D

CHC3

HC3 CH3

D

H

C=C

4. 5. 6.       

D–C–C–H

D

CH3HO

HC–C3

CH3 CH3

49. [IIT 1999]

CH
3
–CH

2
–CC–H    CH

3
–CH

2
–CH

2
–C

O

–CH
3

50. CH
2
=CH– , HCC– [IIT 2000]

51. [IIT 2000]

 CH3    
H2

Lindilar 's Catalyst


52. 1- 4N KOH 175ºC 1.3%, 1- (A), 95.2% 2- (B), 3.5%

1, 2- (C), A, B C 

  [IIT-2001]
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53. X,  Y Z Z 

[IIT-2002]

CH
3
CH

2
CC–H    2

3 2

(i)NaNH

(ii)CH CH Br
X 2 4H /Pd BaSO  Y  4Alkaline KMnO  Z

54. (A) HCHO 3

O O
|| ||

CH C C H     

(a) (A)   [IIT-2005]

(b) (A) 

55.

?

(A) (B) 

(C) (D) [IIT ‘2005]

56. 1– –3– Na 

? [IIT ‘2005]

(A) (B) (C) (D) 

57. CH3–CH=CH2 + NOCl   P [IIT 2006]
P 

(A) 

NOCl
||
CHCHCH 23  (B) 

ClNO
||
CHCHCH 23 

(C) 

Cl
|

CHCHCH
|
NO

23  (D) 
ClNO
||
CHCHCH 222 

58. -2- [IIT 2007]
(A) 1 (B) 2 (C) 3 (D) 4

59. C6H14 [IIT 2007]
(A) 3 (B) 4 (C) 5 (D) 6

60. / [IIT 2007]

 ? H  H

(A)  KOH (B)  KOH  NaNH2

(C)  KOH  NaNH2 (D) Zn / CH3OH

61. 3-

(A) BrCH2CH2CH2CH2CH3  CH3CH2CCH [IIT-2010]

(B) BrCH2CH2CH3  CH3CH2CH2CCH

(C) BrCH2CH2CH2CH2CH3  CH3CCH

(D) BrCH2CH2CH2CH3  CH3CH2CCH
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PREVIOUS YEARS QUESTIONS EXERCISE -5[B]ANSWER KEY

1. (C) 2. (A) 3. (A) 4.(C) 5. (A) 6. (A) 7.(B) 8. (D)
9. (A) 10. (C) 11. (B) 12. (A) 13. (B) 14. (B) 15. (A) 16. (C)
17. (A) 18. (D) 19. (B) 20. (C) 21. (B) 22. (C) 23. (B) 24. (D)
25. (A) 26. (B) 27. (B) 28. (C) 29. (A) 30. (B)

33. CH —C=CH—CH3 3

CH3

34. 

CH —CH—CH2 3

Br

alc. KOH
heat

 HBr  

CH—CH—CH2 3

Br

35. CH—CH—C—CH=CH3 2 2

H

CH3

(CH )6 12

36. C=C
R

H

R

H

37.

CH3

Br

H
H

HC3

Br

H

Br

H
H

Br

CH3

+

(±)

CH3

38. (E) 

CH2

CH—C—CH=CH3 2

39. (a) (CH—CH) CH—CH—CH3 2 32

Br

   (b) (CH—CH) C—CH—CH3 2 2 3

OH Br

(c) (C
2
H

5
)
3
 C—OH

40. (x) CH—C— CH3 3CH—

CH3CH3

Cl

(Y) CH C–— CH2 3= CH—

CH3 CH3

(Z) CH—C= CH3 3C—

CH3

CH3

42. (a) (b) 

O

O

43. (A) CH
3
—CH

2
—CH=CH—CH

2
—CH

3
  (3-Hexene)

(B) CH CH3 2— —C—OH

O

    (propanoic acid)

47. 1   ozonolysis  ; 2   LiAlH
4
  ; 3   H

2
SO

4

48. (4)   HO–Cl ; (5)   CH
3
MgCl ; (6)   H

2
O/H+

51.
H

—CH2
C=C

CH3

H
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53. (x)   Et–CC–Et (Y)   H
C=C

H

Et Et
(Z) 

H— —OH—

H— —OH—

Et

Et

(Z) is meso compound so optically inactive.

54. a. (A) 
CH—C–CH=CH23

CH2

b. 
CH3 C=C

H

CH2

CH2

C=C
CH3

H

CH2

CH2

C=C

CH3 H

55. (B) 56. (D) 57. (A) 58.(A) 59. (C)

60. (B) 61. (D)
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  (Introduction) :

Ar— ArH RH 

Ar – H + E – A  Ar – E + H – A

   +E – A 

E

+H – A 

(E+) 

FeBr3 FeBr3 

Br+ 

NO2

SOH3

C—R

X

R

OO

R
Cl

(R can rearrange)

(RCl, AlCl )3

X , FeX2 3

(x=Cl,Br)

HONO2

H SO2 4

, AlCl3

+ HX    

+ HO    2

+HCl      

+HCl     

SO3

H SO2 4

(1)

 

 

 6 

 


